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A WALK IN THE PARK
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When Amanda Green walks in Central Park in New York with her pet, everyone
stops to watch it. Some people are afraid but others want to get a closer look.

Amanda's unusual pet is a giant turtle and his name is Henry. Giant turtles can live
more than 50 years and can weigh about 100 kilograms. At age 16, Henry is young
"Henry doesn't walk all the way to the park," says Amanda. "I take him there in
a baby stroller because it is safer. He walks very slowly so crossing the street is
dangerous. Drivers do not see him and the light usually turns red before he gets
to the other side. When we get to the park, I take him out of the stroller so he can
Lately, however, Amanda started to feel that Henry wasn't walking enough.
"I work long hours and can't take him to the park very often," she explains. "So
I decided to pay someone to walk with Henry, just like people pay dog walkers
Amanda put an ad on the Internet that said: "I am looking for a responsible and
friendly animal lover for a part-time job. No experience with turtles is necessary."
She hoped to get answers from two or three people but to her surprise she got 400
emails! She even got one from Australia. Amanda couldn't believe so many people
store. Julie will have to answer questions about Henry and make sure people do

not feed him junk food. That is the job of the world's first turtle walker!

of him."

(%2
10 walk freely and eat grass. Henry is very popular. People are always taking pictures

20 wanted the job. She finally chose Julie, a university student who works in a pet

Read the article below and then answer questions 1-9.

5 and weighs only 7 kilograms.

'N107,016381 00 ,1’ywn 9NN 9NN
15 when they are too busy."
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she didn't want to walk so slowly

she couldn't walk with Henry often

she didn't like the people in the park

She saw an ad on the way to the park.

She was a dog walker when she was young.
She knew that there are people who walk dogs.
A person with experience

A person who knows the park

Turtles like to be with friendly people.

She has to talk to people in the park
Friendly people are usually responsible.

A person who likes pets
Why is it important for Julie to be friendly? (lines 16-22)

)

Amanda decided to find someone to take Henry to the park because (-).

What gave Amanda the idea of paying someone to walk with Henry?
What kind of person was Amanda looking for? (lines 16-22)

i)

What surprised Amanda? Give ONE thing. (lines 16-22)

(lines 12-15)

i)
(lines 12-15)

1i)
iii)
)

ii)
iii)
i)
iii)
i)
iii)
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Instructions

You are about to hear the passage A Healthier Way To Eat.

*

The passage will be broadcast TWICE.

Before the first broadcast, read questions 10-15.

*

It is best to start answering the questions after the first broadcast of the passage.

*
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